
Alt actation for Is: Ils
# More complicated us. wappings

[T ']BED = IT"'IBEC Peso
T: 4 oV via TCH) = [8 .3|*

B=c= SL:J.[-33

[T(L:J) ]B = [3]]B = I8J
so ITIes = [3-4] + Nice dagonal matrix because we chase
But also [7] 848= 3 -4

the eigenspace of Is'3J

So [TIsES = PoMB [ TJaaB PaSS = (PBes)"' [TIBEB PBES

Indeed [:41(3-41 [413 = 1831
Does that mean ITIses and [TIBes ave somehow connected?

similar if IP st. pAP=B
Lt. for basis that could be different.

We say A. and B are
Vis. they represent sameWe wite A ~B

Lec 35

B=Su...n? T C= Ev,. m' [JD

* IT]ckB

PeED

Rm

* Pare

Notice:

Ex.
41 = R3

V = Ra

Def



The Let A,B. C be nen.
1. A~A

2. A-BAB~A
3. A~B ^ B~C " ANC
Let A. B be wan with ArB. These are true:
1. det A = det B
2. JA-1 43B
3. rank A = rank B
4. A, B

5. A, B
have some charastic polynomial dat (A-1I)

comme eveashave

Proof for 4
Well det (B- XI)

" " " " "

Then:

The
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